Math 201: Statistics November 10, 2011

KEY

Fall 2012, EXAM 1
-100 Minutes

Instructions: There are six questions and one bonus question in this exam. Please inspect
the exam and make sure you have all the questions. You may only use your calculator and one
side of a hand-written A4-size sheet of paper. Do all your work on the paper provided. You
may not exchange any kind of material with another student.

Remember: You must show your work to get proper credit.

Academic Honesty Code: Kog University Academic Honesty Code stipulates that “copying
from others or providing answers or information, written or oral, to others is cheating.” By

taking this exam, you are assuming full responsibility for observing the Academic Honesty
Code. -
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Question 1

The time it takes a waiter to take the order (=yemek siparisi) of the customers in a restaurant are
recorded (in minutes) as follows:

3.6 4.9 4.3 5.6 4.7 52 4.9 53 4.4 4.2 3.7 6.3 4.1

a) Draw a relative frequency histogram of the above data by using class intervals with length 0.5
minutes.

b) Is the histogram left-skewed, symmetric or right-skewed? Why?

¢) Write an interval that contains at least 75% of the data by using Chebyshev's rule.

d) Find the 90™ percentile of the order times.
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Question 2

The numbers of phone calls made per week by a marketing specialist and relative frequencies
are displayed in the table below:

Phone calls 10 11 12 13 14 15

Relative Frequency 0.16 0.26 0.22 0.04 0.18 0.14

a} Ifthe frequency of 12 is 11, what is the frequency of 14 in the data set?
b) Find the mean number of phone calls.
¢} Find the interquartile range (IQR).
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guestlon 3

A random vanable can have posmble values of 1, 3, and 6. ItsEiEnsterdsdeviotion

and expected value




Question 4

A box has 10 blue, 20 red, 30 white, and 40 green balls in it. Each ball has the numberOor 1 painted
on it. 4 of the blue, 5 of the red, 21 of the white, and 20 of the green balls are “1”. If one ball is drawn
at random from the box,

a) what is the probability that it is red and “1”?

b) what is the probability that it is white or “0”?

c) are the events ‘green’ and ‘1’ independent?

d) and we are told that a 1 is painted on it, what is the probability that it is blue?
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Qb o 1o blue, 20 ced, 30 witten, 40 graen \oalls i avox,

a) If 4 balls are drawn at random from the box in question 4 without replacement, what is the
probability that they each have a different color?

b) If 10 balls are drawn at random from the box in question 4, what is the probability that more than
7 are green? (Use your calculator to get an exact solution)
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BONUS . : -1(_\, Ae

Find the numerical value of the expression below using the binomial tables.
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Question 6

Find the regression line (least square fitted line) for the points (1,1), (2,2), (3,3), (4,3). What is the
sum of squares of vertical deviations for this line and the given bivariate data? Do the average of the
x-coordinates and the average of the y-coordinates satisfy the equation of the regression line?
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